3) A particle carrying charge qA = -8 × 10-4 C is placed at point A and a particle carrying charge qB = -2 × 10-4 C is placed at point B.
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a) Find the magnitude and direction of the electric field at point C. 

b) Find the electric potential at point C. 

c) Find the direction and magnitude of the electrostatic force acting on the particle carrying charge  qC = -3 × 10-5 C placed at point C. 

d) How much work would one need to do to move particle qC from its location at C to infinity? 

e) Is there a point along the line joining charges qA and qB where if you placed charge qC it will experience no acceleration? If so, where? Specify the distance to qA.
